aa
lsaus aaed @

o Q@
geesa 99° 7 coq e / 99!
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swers. Choose the correct answer
g an i
Osslble

» . 0111 amOn t
tion has four P le completely in the OMR Sheet with Blue / Black bal% h?m alld
B appropeiate o Poin pe
dar. —~ ~ : .
’ gig) SRS G FNIRIQ
LCHILD DEVELOPMENT GY
> ' : J w ]
o ) - G G’? s i ; "» {
1. Qe SgAIRS aiel BNRAF - 1995 6a e | q, Which of g, followy,
| ovegl GRIAIRE ? llnder. PEISOns iti PTovisjon
. . Act - 1995 5 1sabiljt,
(A) €2 ed adie algdl dal &)
- J : ree
(B) ¢EiNe dRAIw aiQ Qlol@ggg ®) .ec.iucahon till 14 V18, of age,
T ceeR 661N QISIQ Qyag RO Of onl e language ;
S € In
ﬂlle CWrriculym ¢ rheaﬂngirnpau »
ScE Y oo " child »
(©) Fodie agaie 9 agq SR Quqq o ren,
TOVision of financia] assistance foy
(D) Ngee g eqlaga o

6%

2. 982 dal dagq 1958-59 ca q5g 118

regular attendance,

(D) None of the aboye.

56 ) 2 What is the flame of the committee
@9 QA @ Sl ? established‘in 1958-59 Pertaining to
& women educationl ?
(A) 601 @Fd (A) Kothari Committee
(B) (1@@52“@ atata (B)  Mudaliar Committee
Q) QA IS 6Qas !FE (C) Durga Bal’Deshmukh‘ Committee
il : = (D) Radhakrishna Committee
(D) QARIINY RAG
: 5 y In our state, under multilingual
3 6Q 6@ | 3. .
3. difl QAURIER Qe®IAT Al qu%?? education programme, books haveflot
QUAIER AIOIYLR IYe Q@ULIRNDIL 7 been published in which of the following
languages ?
(A) Kisan
a B) Koya
A) Qe ( _
: eIl (C) Bhatudi
(B) 8 (D) Oram
9(_:) Qe Eid
(D) Gl (Continued)
. )
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= BINAR AT TR 7
T~ A Cll /AN

@101 DICYRA RIQ-2005 @ clidied] B
Qd6R 6996 ARG ?

(A) TRFIER O Qe BIR 2lIeed @ad
(B) 68 QIR F98 YdAIN cRiqelg

©) 399599 989! QI G 2ye Fgaica
QIR

(D) QAQl AqRIeARe ada g
UILASER ARAR @

A0Fe dF ANN6Q RIP1 FQIQ1D (1986)
62 @8 AN QRULIRAR! ?

(A

) % G d9¢ 63R1 6 AIesyesl B3
3

AIIANER 10 A%l god GA6e |

(B) fade 6gan dae daieiea @1dq
6969 |

C) e 8 QIa A/YAGI Fda daldies
ARSI FMIRUER FYI 28 KRR |

(D) @egd dl1dRIee IR Joa SRR
gl |

‘884 geddie gasRage QUeLIa gad
901" - 3% @2 ?

(A) qeq
(B) seieq
Q) cefia
D) doea

SET _@

Which of the following is related to ¢
principles under NCF-2005 ?

(A) Students acquire knowledge in the
own way.

(B) Rote learning results in long
retention.

(C) Student unable to learn better 1

asking questions to teacher.

(D) Problem solving approach helps
acquiring knowledge.

What was the recommendation made }
the National Education Policy (1986)
relation to Integrated Education ?

(A) Students, who need differer
learning technique an

requirement, will learn together.

(B) Regular class teachers will tak
responsibility for teaching.

©) Less and moderately differentl
abled students
education in

will receiv

regular/norma
schools.

(D)  Special schools for differently abled
students.

s . . . .
Learning is a change in behaviour due

to punishment and reinforcement”- Who
said it ?

(A)  Skinner
(B) Gates
(C) Cavellin
(D) Limball

N NA Py /A
) A e i/
O AR — e S e =

(3)

eV Ve 0&
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g

clela CIONA 2IIIQ-2005 @ fidad ¢16
Q06Q 6866 ARG ?

caI8Q1 QI Q8 QI IRl

l
J9ex 99 209! Qo Gal 2Ne dgaiea
QIR
QAQYl AARIIRELRS aF el BIg
2I2QdEQ ARI0R 89

76 G991 ANVEQ RIF1YA FVRMG (1986)
60 @’8 UG QIR ?

G 6 994 6901 6 AIRdiael de
JanEicies ueg A3l g8 @Q6e |

- 696Q | |
2l B Q¢ UM 9F] daIAIeR
ARIQE BIRGER d8I g8 QAR |

fasd daldinies die 69 FINU
Quegl |

(D)

“Je gebele geeneds 1e2a gad
9801” - QBF @I21Q ?

GRIFIER PP QTR IR LIPS a8 |

Gafie egdl 499 AR @ILdQ.

4.

SET _

Which of the following is relateq to the
principles under NCF-2005 ?
(A) Students acquire knowledge in their

own way.

Rote learning results in longer

retention.

Student unable to learn better by
asking questions to teacher.

Problem solving approach helps in
acquiring knowledge.

What was the recommendation made by
the National Education Policy (1986) in
relation to Integrated Education ?

(A) Students, who need different

learning technique and

requirement, will learn together.

Regular class teachers will take
responsibility for teaching.

(B)
©) Lt{ess and moderately differently
abled students will receive
education in regular/normal

schools.

Special schools for differently abled
students.

1" . . . .
Learning is a change in behaviour due

to punishment and reinforcement”- Who

said it ?
(A) Feq (A) Skinner
(B) eaeQ (B) Gates
Q) QR (C) Cavellin
< Y
: (D) @feR (D) Limball
\ V V —
—)  48MPP Al QUAD CAMERA o) e
( )AET P R 7 dﬂ'."L:(’]ltilﬂlfﬁ”‘l(‘ﬁ‘;ﬂ



10.

69RG Qo
© AG0eqIeq CI8Q SRl qog ?

A96qa9 Gricq gsQie Q&

‘aﬁﬂlﬁi g9 caia G?QQIGi Q@0 Qe
6158161 ety QI QQ@@ 6LQl

A Qe Bage QLR 9|l
QIR FQQ 2isaia qdal

ARl AnR6R Feqia 6o é'.:a ) Q6@ ?

(A) QS 2190 21Dy e9ga QI 2eYe
1g

QR4 da1aa FaR NIGER F8a gas
CQHIQIRAIN

IRIG 6Qen @°dIgqd QI Fqde
62I1Q2IN

ARG IR FRR UIQUER 9F AR

(B)
©)
(D)
Q6% Q°QIR1 AI0IgER 969 AR IRAINTR
Q20! 28 #8Ql-69Q geIaa FRILe ?
QIR

Slelalala

AAURAR
aqIggoa

(A)
(B)

©
(D)

ada agiae dale 5068 606 URG6q
FYIQI9Q ZIeaiael A8 ?

6dlge 086

Q1P 988G

ges ded

(A)

10.

.

SET-(B) |

Which of the following is not an

educational implication of

constructivism ?

(A) Creating scope for self analysis

(B) Inspire child to frame questions

(C) Learning to be controlled by
teachers

(D) Giving importance to realistic

approach for problem solving

Which of the following statement is not
true about development ?

(A) Development proceeds more
rapidly in early years of life.
Development occurs at different

rates for different parts of the body.

(B)

(C) Development is caused by heredity
alone.
(D) Development follows an orderly

sequence.

Knowing the ability of children to study
a new English language textbook comes
under which type of evaluation ?

Placement
B) Formative
Diagnostic

Summative

Students suffermg from cerebral palsy
requires which teachmg method ?

(A) Oral method

(B) Play way method
©)
(D)

Project method
Role play method

?J@QQ 0@6‘
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11.

12,

13:

14.

68e a@QIq QLR AR QrIed &6
JIRen, 494 TRYD 6RIQRAAN | 99
24QI0RT 609 998 Fad 2egs 7

(A) A Fad

(B) 9g6 fad

(C) adsia faq

(D) adeines A6 79 Uege 96d

Q06 QRGIE JREQ N A 68 ?

(A) PQa QU3 688 QoI gaIRe ceal

(B) €@60Q dgIgh 3ea gRIRY §2ia 608

(C) 6163 QI UYRS PF6R AR @
*AQ!

Zere dglgl 2ye Aaa 5619
geais RIS

(D)

QIRQ QR (60 I/ @9 ?

(A) <edl

(B) 1.9Q. @R
(@) @.4g. 499
(D) d.4. 6aR

6060 @ @9d6a dg0I6a Aadl 8 ARl 2@
21690 SRl8 62IR2N ?

(A) 2 Q¢

(B) 5 ad

© 1294

(D) 18 @d

11.

12,

13.

14.

e

SET _

If a learner, not interested in Mathematics,
is forced to study the subject, then the
learning is not fruitful. This is explained
by which law of Thorndike ?

(A) Laws of exercise
(B) Laws of readiness
(C) Laws of effect
(

D) Doesn’t belong to any law of
Thorndike |

Which of the following is not a demerit

of group learning ?

(A) Being influenced by a certain
individual

(B) Some

"dominance

students exhibit their

(C) Not completing a task in an
appropriate manner

(D) Many students don’t get the

opportunity to utilize enough time
in an activity

Who is the

conditioning ?

creator of operant

(A) Rousseau

~(B) AS. Neil

(C) B.F. Skinner
(D) P.C. Wren

At what age, in a child does emotion, like
curiosity and shyness develop ?

(A) 2yrs.

(B) 5 yrs.

(C) 12 yrs.

(D) 18 yrs.

_:UTET\Q.]‘?;:I?;, Al QUAD C
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15, 76qI9 frg 6Red lcens QIal 9@ | 15. Which of the following is not a law of >
AR °GIQGEIR FAel Q6L ? heredity as propounded by Mandel 7 O
(A) Qe Faa (A) Like begets like f)
(B) d&a0l dad (B) Law of variation S
Q) geuaae gas (C) Law of regression N
(D) aqieIeyel Bael (D) Law of unusualness <)
16. Q43Q FAA6R 2NQ 2R IR 2T goyaa@ | 16. Who gave importance to self realisation
UL QACR @9 GQ IR eRaE ? as a medium for further research on
personality development ?
(A) a@eals (A) Allport
(B) 6aigqg (B) Ragors
©) <qieel ag I(C) Malati Mattu
@) o (D) Chadha
17. 6Qe6 2976rd SauRga cOFay 216g ? 17. Which of the following is a characteristic
of inclusive school ?
(A) €e8a dRIAISS A A6l 6441 (A) Arrangement of separate classroom
6100 uegl for differently abled students.
(B) dsldicies, aiqdy @asa 9ae. | (B) Students are imparted as per their
@Il capability.
(O daigha 99neIq AR Qe A (C) Weakness of students is given
: special attention.
(D) &84 gediea dolqiel AeIfala (D) Parents are an integral part of
6210218 learning process.
18. @64 @@ d9@ : 18. A good teacher is to :
(A) 89 oo @228 8 a1l {762 (A) provide knowledge and prepare
Jalghivies gee adeisd | the students for examination.
(B) @Qigie A0 2QQ 6AgRl Fa6e (B) prepare the students for right
Jalehcles gge eqag | answers to be written pi\
examination. >
Q) ERdIfIeE AR QIR QINER B9 (C) provide authentic learning
QARIQ 6aIS 6091 A6HT A6T gAIETR situations  and  facilitae
AYE AR6R4 6QTIRERR independent thinking among tht‘
, students. : =
(D) ara A0l 6 AIoIge §agIg 2gaad (D) follow the time table and course -
QA< strictly. = 0
OTET/P- .
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19:

20.

21.

22,

ARIA AERER TAIAIRT A6q aa 9a @

(98I d@IdQ g64Is 621 frea 9ae a8
600 AIIRT SR ?

671g¢@ ALY Qg
Yade d98 Aag1 gge

QLIS 22
18, 904 Qe

Al 2R ANFAA-2009 @ 6Qa Q!
AQQIR 6Q18T dgQ dIQ1Re @8 QI alede
Q1o FULIRQ AL 1D ?

IRl 14(2) 102438
IR 17(1)

IR 24(1-A)

QI 29(2)

NG 16 TARIER 6271 TRIIAIRE
QP00 RIFINca ATR KRR AQUAE
6RR2IZIT | 6Q76R AIRIY @RI :

(A) QR

(B) &dl

(C) QeauNIdy

(D) AAIFRE

(United Nations Convention on the Right
of Child) UNCRC Q@91 QRISIFae
diofe &gl Fge 6a9 ANRIQ 2GS ?

(A) QI 2RI

(B) QR 2RI

(C) 9oRIQ 2RI

(D) 2628 @RI AYRIA

19.

20.

21.

22;

SET -

In tribal areas, which is a functié;l
organised by Srujan to provide an
opportunity to students to let go of fear
and express themselves freely ?

(8)

Oral literature collection N

(@)
o

Preparation of bilingual teaching
aids
Story telling festival

Song and dance festival

According to which article of RTE-2009,
any form of physical or mental
punishment cannot be administered to a
child ?

(A) Article 14(2)

(B) Article 17(1)

(C) Article 24(1-A)

(D) Article 29(2)

Teachers are advised to involve their
students in group activities because,
besides learning they help in :

(A) Conflict
(B) Jealousy
©)
(D)

Aggression

Socialisation <
07
LILJ]

According to UNCRC, compuiﬁory
elementary education comes under whi
right of a child ? LD @
(4) © 3
(B) <%
©

(D)

Right to live
Right of development

Right to safety ; -
= @)
0 &
NI

Right of participation

OTET/P-1
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23.

24.

25.

“Fga gaal aede dacIeel @63
2@egedl @ cegla QalQle | 499 %eil@
Fadeq ca6eq gela ARCYQdl @eld
QI9ca Sauale aQl ade I’ <@ Q86a
@9 Q@g6m ?

(A)
(B)
(©)
(P)

2ACRRAR
cad
SXala)

SlalN[

‘AR6gdIa 0’ AAREQ @9 JIe Q9T
QA e6M, 69RQ06Q 64 24 § o) 4
e ?

(A) 6.9, AYeAR
(B)
©
(D)

2IeRRAR
90.09. Q4Ia

@.6. 629

6RAE AAITRIR g¢ 9gha P g6 ?

(A) QIR QPR G AGER YMLIR QYR
QG0 969

6615 gg6Q Q@8O gauale
F2QRAIQAQ

256a 2d geld @Qdel QIQY QIege
6eQ Q@

(B)

(©

ggea gea gaiaIedean 6ady adal

(D) i
gia adie 6291 Ao,

23.

24.

25

SET -(B)

central factor in the
nt of the process of
f motivation must
Who said

Motivation is the
effective manageme

Jearning. Some type 0 .
sent in all learning -

be pre
this ?
(A) Atkinson
Kelly
Skinner

(D) Guilford

Who has written the book, “Theory of
Motivation” in which he has given 24
theories of motivation ?

(A) K.B. Madson
(B)

(©)

Atkinson
H.W. Bernard

(D) D.O. Hebb

Which of the following is not a rule for
preparing completion type of questions ?

(A) Blanks should not be kept in the
beginning of a sentence or

statement.

There can be multiple blanks in a
single question.

(B)

(C) A sentence having ambiguity in

meaning should not be used.

(D) Thelength of blanks in the question

must be nearly.

OTET/P-1
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SET - P
26. 699 MYIeq Qee AR dJ9e 8 ane 26. In which system, regular teachers and
J99 a9 Jaldia daiq QPQ eenald ? resourceful teachers take responsibility
: education of d1fferently abled
students ? N
(A) Qe asl (A) Integrated education S
(B) eefeqsn dql (B) Inclusive education
() qea dal (C) Special education
(D) Qried & (D) General education
27. 2deIRRS 990 PaQ BRY 2den RIgE - | 27. “Law of Readiness” of Thorndike is also
known as :
(A) UR6CYE dgq (A) Law of motivation
(B) zuQ daq’ (B) Law of exercise
(C) MeAQ daa (C) Law of use
(D) Qe Faa (D) Law of disuse
A A '
28. 6Q9%E %4 QIFIQ GO ALY 6% ? - 28. Which of the following is not a
_ characteristic of learning activity ?
(A) el | (A) Joyful
(B) ddew Qi gede (B) Demonstration by teachers
©) ugledee _ (C) Challenging
(D) QRIS 6199 A J6eId Q& | / (D) Opportunity for multiple skill
development
29. €Q§§ AR A°F0RRPA ey diadl 29. Which one of the following is not a major
Qee 7 concept of social constructivism ?
(A) <20l (A) Reality
(B) &Ie (B) Knowledge
(C) 4g4 ) Q) Learning <
(D) vg@e g G@]@Q}G Q6w (D) None of these h(_fj
30. 6@Q6 dga QEQQ IRIGe @qaQl ealRle | 30. Which is not an element of mﬂuenﬁ h
Q6% ? . the personality of a child ? 6
(A) @°aqe (A) Heredity \ 5
(B) dG6aq1 (B) Environment © j
L) Qi (C) Health < T
(D) Geg (D) School = (
0 -
OTET/P-I 9
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(M.LL. (ODI1A)]

d49ea Aq6gedq af Aqea QAR g

(g° 31 q ¥° 35) q3ea Qa9 cad |

a8 9 I9Q GeIgete Qlq AR g
PSR | 299 QI9de cel, Goldiole 0 699,
AAITS 2124 | 98 @l 959 6a AlQg 2QLR
QAR AGRIY B calqaial 1 Q& Feul 2eel
FIGl Qg 962, ABY 927 691A B 2l 'ﬁalusi 2808
539198, 219 6069i6a 21206/Q §I9 635 cald g
- UI8A didisfian gieqy qeq 6929, aa1d ey
- 62IQalq | @ﬂ@ém 62l gg2 RIA G 2I6AINR Q19
AAGRId | 92F GIR-Q8 QIRSTA AIAR0I0 Sadal
E° UQGIR_6qa @8 | 9f A6Y, 96 Ay gy,
g]@@ P90 N06Q AGY ger | 6D dee A0Ya
QRegele 8 goal § Qe aIBqey | 6aoe e
6907168 Q26 ANIAY QBT ARI6a ARMIFR
QORI 6991 A6 QIGQT‘@IQI@@ 6907 ARG AR
RIS 1Y RAITRI AR6QBS QRaRI | A Qeiay,
62 92 RIPREs (&Y gednea adiede el |
A5aQ-0ee 94 dag, el &g 998 agaiea
Q8 Pdaa QRIFG! 629l AR 2Rl u6iege, 12l
QASRTR UL°-AAY RIP6nag URHE 6anl | 6ad
Qg3 29 6909Ia AFINER R UGNS, olalg
AIRe 2QAIR 6T WIS @8 geale 8 LedIe

Q@60 A Q86 69671 6AEE FF6R A 6AR0IER

Q2ql | B9 1 AT ARG 2AQUIee QRS ?

31.

32.

33.

SET -

Q8 @l dxa C0I9e0e QA9 AR gy
Qelem QIPa ?

(A)

B

©)

(D)

e QAQ IR 960 @R2ARIG

deIRIele J96ea Q8¢ AR saig
QUG

®logel 6 2834Iaa Jea eqaely

RE2IAQ 68 FRCRARNG

2i6el A aald 6RIRAIGAR iag

@& ?

(A)
(B)
(G-

(D)

N gR Fal 6 AIInlg 621ReRlq
2lsel Faig 83 aigalg

el 690RI6R QB QI [Ie
6gig

64 QRYQIQ

b

AR GYA &@ ¥« ?

®

989 818 8 AR AIGe afgeld
QR AR FAdQIA

R ARUR QR U YT a9l
UF QAAR AR ages egged

QG FQI8 6 ARyw adgle aie
QUSRI

OTET/P-1
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34.

35.

(

i

—
~

SET-(B]

< ~ J
od GRICQ QEREY @4 AR ? . 62 AU 69 AN, S1aeq o dgaede |
(A) 916 8gca Qd FFIag adal 62 YR AVEAIR 2R aFaId 7
(B) 22T €906 A9 QuFeIRE dlel 69Q-6aa1 &6M aI6s, qeian aeiaee,
- edaRl ARIed QARIER ABIEURI, 671929 FaReq,
(C) 2R0 NBAIRG ARMITR Fe@E? 62! @ienl AU, dnl gl geaiag,
(D) 499 99 BgaIsa 9f Adan QrIIRe) FYeR Ggdelting -t de |
gaie 36. 6399 QPR 6RQ QN AR AR ARcRIal
aml ?
QI2IQ eI9RIER AFIge Ata@ ? PO
- (A) Q9 agea agael dda
(A) 6198 A
(B) gsia edlkay
(B) 6QlE@oIa
o (C) QeI AIQ
(C) 6P =
(D) geUeRINe giqoe 65IRl
(D) 69091
@qg@a Qéeloaé GIOQQ Q6R @alalaagl g‘é_] 37. Qud Gl@ dex @ qgg_%l 2R G‘P,él G|@@§ ?
(82 36 Q @° 40) 9P9Q Q@A 6AS : (A) Q8d
gIAAI6R Fiaq oo 6Alge 6dlal (B) @adl
6Qd 6Q6Q digra cardml JILl 6REI; ©) w9
UG 62 6@d 26 QIR KIg ARG (D) @8
6d 2169, asIeR, @8 QI 1 AR ?
3 con 91ee-0l2, 994 Q@b Qled, 38. 6366 QRGN g8 @dca dgae Sad <
o7
Q4 6710 690 GIF, BIF-TR 6QQ 2168 | seecs % =
- <t
? Gg1a 2nl F6a 98, F6R, AR (4) ueee U
< a B) @8ge C \‘@
@10 @0 9%, 97 agasa 8e; (B) 84 <
AVUS gAY 6719, @M 163 cUR2AN&; (C) eqlNe C ) ©
- <t <
QIR ZcaIR Q6% 12l A16! OIgRIEN; (D) 2da )
> 8
(11) (Continued) D
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SET _

§

39. Que g2 6 el Qe @IRIE1 48 QGma | 43. @eQIQ PQue deeq oqld :
AR @6 GqERl ? (A) 2@
(A)  <aagsen cagam (B) 6Q9Q
(B) 2ek6 ceaaql (C) @l
©)  @eEe seaan (D) a6
(D) %0 ceaam
44, QUOR 90Q QIR ARA N ULERIQ 6ad
0. QNAIRER 6B ReI6] 69 a6 6AYUSR 7 geia g9 9o1ae! @56 ?
(A) 6Q%guae (A) 0% 6 QR 6ea 2d
B 290 6 aydiaa (B) @SBGOS 6AIR AARG
(©) edading (C) QUe2de IRAE anee
(D)  qseqq (D) 6QIEB ARIGS WP 99
41. JAIQ 6ed @96la dqld e d9ededel | 45. QI0AR 2060 QI AR AN 6RW 90T A
QIRIAYR LRS! F2lN ? QaIcae ?
(&) Q998 el (A) Q&%
(B) @eie @3l (B) «del
(C) UV NN G © @a
(D) QUeAAAS QS 2FSI (D) @‘@
102438
42. 649 QUQEE OB QITER AR AUICA MG | 46.  6ad gAIR einca SRia Qe G168 ga
Q60 QULH 621RTIEA T Q6918 ATS Qeaal 2N ?
(A) g (A) Q9
(B) @d (B) ge
(;) aal ©) Qerige
(D) ad (D) Qa
e em
OTET/P-I (12) (Continse?
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SET - ‘;i

| o ] ‘ i w
4. Gegea Auq 69dE G6a8H 09 58 ? 51. QI da6R 6991 G2 AR’ - @ qFde S
, 2el @8 ?
(A) 6@eM '
(A) qld QIS d6a 2ige aidal
(B) Yeue .
(B) Qal 9dga
(C) g
; (©) & aigea &a ga
(D) @de ~
Qidy 21an @AQ
48. 699 696 ‘@’ geye edisea 608 7
| 52. QU@ad gl Gaieh aIe adees SRR ?
(A) 219 _
- (A) gl 6dledicalia GQId AN
(B) @@ e e
(B) AIRd@ gelem AL JReg QAN
) ae 2 u
(C) qee! a8 Gals AIF @6A
(D). €9Q )
(D) ¢9a RIQ IS gRId FAFIER
7 QLRI F6Q
49. caad daie @8l d38e gar ad Qee ?
(2. 89910 53. ‘aq’ deq Saqicideale Gae] §gi |
(B) @64l ’ A) 26
(C) ‘PG B) <l
(D) 9a64 (C) «alelm
(D) q@
50. Gegie fig 086 goid qlel 606 €06 | <
Ggi2 | = I . o
&) 54. ‘QIaRe Qo @@l 2l gelde 9@t felll
= <
(). & ! (A) 6o 6@l @)
(B) e (B) <leln 0®
6R6R QIR Qall < (@
C) 6dIe = 2
) (C) 01ag AIfe| Ok
(D) ed (D) QLT adel ? N
o, Of
13 (Continued) N 9
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SET-

m 55. 6Qei0 ‘09’ €99 godR Q6% ? 58. 6@60 9Qe €I04gee IR g ?
(A) 9YEQ NRRR [ a9
(A) 2R1R |
(B) 2l S 6ELR
(B) QaQ
Q) 26 Gna 999 99 YRR
(C) eeqie i ) J
(D) QI &4 6aLa -
(D) dege M e ’

59. ‘@ 2a 6 ‘Y a6 FAUYIRAV IR FRIYER

_ °0e 919 ARG QRIARAUN 94 692 gRIa
56. 6QWG QUUFIRY QAQAE ?

Qg ? O
(4) geeae b - (A) qé‘s,_»qamaéj a9
(B) 9191099 s g B R (B)‘ ""Gﬂﬁ? g4 '

©) oeede qidige . Q) odieed gee g¢ -

s WL B (D) q@eqgee gy
(D) 690IQ AHAIQE RIGIQe A R

57. QI8 3K 69g6R 604 @UGIR BRIE 26ARIRE | . 60. AR QIR I, 6 doial GIRE QA 98

PR 7 - o e e M A AT 1 - 1 QIR cauISe aab cad geI
' Adqel ? .
(A) ged . &0l
nr (A)  uecade
@ae
9) (B) Qqew [
(C) aoe ' Q) ggeliee
~ < (l
(D) sl (D) [eadqiae 7
OTET/P-1 (14) : (Continued)
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' ' SET -(B)

(L-ENGLISH |
¢1. Neither of the boys a bike. 65. She avoids there.
(A) has got @A) togo
(B) was got (B) g0
. (C) going
Q)] navegor (D) to going
(

D) has been got
66. Substitution table drills helps the teachers
: in .
. Which of the following is correctl ! _
& punctuated ? v 8 4 (A) developing free writing skills
(B) evaluating the listening skills
(C) improving fluency of learners

(D) giving controlled language practice

(A) He said to me be prepared for the
worst. '
(B) He said to me “Be prepared for the

worst.”
67. Hema told me story.

(A) a fantastic ghost incredible
(B) a fantastic incredible ghost

an incredible fantastic ghost

(C) He said to me, “be prepared for the
worst.”

AD) He said to me, Be prepared for the
worst. } (@)
' ' (D) an incredible ghost fantastic

63. There should be a “word bank’ in every

primary school because it helps build-up 68. Learning English in India is 1mportant

i because
(&) * conceptioh (A) ;i }112 (i;?;l'ght in all English Medium
(B vocabulary (B) it is the language of our powerful
() writing skill F ; colonizers.
. ; - (C) itisa foreign language.
(D) reading readiness D) it is a link language in a

multi—lingual country.

64. When a part of the word is spoken

emphaﬁcally, itis called - 69. When, in a specific situation, rules are

applied, we call the method

e
R} pags (A) deductive
(B) intonation (B) incidental
() stress (C) inductive

(D) correlative

(D) pronunciation
OTET,/p.1 (31) (Continued)
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SET -(B]

_ his
70. Our Constitution recommends Englishas | 75. He was SshatnEs Lt
TELLE e misbehaviour.
(A) a Compulsory subject in education (A) with
(B) a language of admission (B) for
(€)  an associate official language (€) of
(D) a lingua franca (D) in
71. He i
gave me one-rupee note. 76. The categorywise action verbs list was
() an developed by
B) a (A) BS. Bloom
(E) the (B) RCEM approach
() e (€) Robert Mager
, (D) Robert Miller
72.  He has been ill Monday last.
(A) to '
. 77. Formative assessment does not help in
(B) since oo
(©) in (A) identifying the learner’s weaknesses
w) _ for in Iearning.
(B) providing opportunity to the
) learners to improve their work after
73. They have been studying getting feedback.
(A) hard all day at home (©) enabling teachers to modify
(B) all day hard at home teaching-learning strategies.
(C) at home hard all day (D) enal:;(ling learners to secure good
marks.
(D) hard at home all day
78. Continuous comprehensive evaluation
74. Hemant could not reach the station in emphasises
time owing to (A) product evaluation
ffi
(A) - heavy iratiics (B)  process evaluation
traffic
(B) heavy (C) term end evaluation
(C) lots of traffics O su .
: mmative
(D) _much traffics
(32) (Continued)
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The detailed and careful technique of | 82. i j

79- reading a text is known as i ‘ Hlof aitheiobiohsieen

(A) skimming : (A) Pleasant i
(B) scanning ‘
© intensive reading () 'Stenuous 1
(D) extensive reading (©) De lightful

g0, When I him, he was playing (D) Easy
Chess. ’
(A) see
® saw |
(C) have seen - 83. What do the village people find about the
(D) had seen education given at the adult centers ?

Read the passage carefully and answer the (A) The education is CO.Stly

questions (No. 81 Fo 85) that follow choosing (B) Learning is difficult

the correct alternatives given:
The bulk of our population is poor and (C) Learning is not interesting

iliterate. Adult education poses a lot of ' ‘

problems. On the one hand, there is shortage () The education has no bearing on

their daily needs

of teachers for adult education and on the other

hand, the adults feel shy of starting to learn at

a late age. Moreover, as most of the villagers

ate farmers and the job of a farmer is very 84.

strenuous, an adult villager has little time to

How can adult education be made more
meaningful for farmers 9

spare for attending classes. In addition, he finds ,
that what is taught-at adult centers of education Ay It should be useful and work-based.
h i ‘his daily- . Therefore,

2s no bearing on his daily needs. Therefore (B) It should be aiks

It is necessary to make
gful for farmers ©)

in the villages. It should be made useful and
work-based to arouse the interest of the adult (D) It should be enjoyable.
villagers. The teachers should adopt a system

i’f education in which earning and learning g0 ;
y :
gether. Efforts to enhance adult education 85. The word ‘pearing’ in the passage is

ed to migrate

heis not interested in it.
adult education more meanin

It should not be strenuous.

r’ill ultimately discourage the ne
0 towns for better earning: ‘
i (A) an adjective
* What poses a problem for adult

education 7 (By an adverb
. (A) Illiteracy (C) anoun
j (B) Poverty..
; (C) Shortage of teachers : (D) averb
’ (D) Village environment
OTET/ e (33) (Continued)
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Read the Passa

3
SET _

ge carefully and answer the 87. The machines, according to the Writer,
Questiong (No. 8¢ ) are in a fair way to become man'’s masterg
the oo - 80 to 90) that follow choosing because of his
rrect alternatiyeg given : ' o
Yet : (A) too much dependence on them
is that (_3 another great defect of our civilization : -
At 1t does pot know what to do with its (B) knowledge with which he Manages
OWIEdge Seis machines
5 e ‘f nice, as we have seen, has given A :
r - )
L il chﬂz r:;.for Gods, yet we use them like (C)y faith in tﬁe powers of the machineg
(D) too little dependence on them
F : :
mana o xample, we do not know how to
e i
i 8€ our machineg Machines, as I have : :
Teady explaineq were made to be man’s | 58 Machines must be given _ t
serv ’ ash with.
. art:S’ Yet he has grown so dependent on n
= n: 2% they are m a fair way to become his (A) petrol
3 asters. zleready most men spend most of their (B) coal
Vves looking after ang waiting upon machines .
And the machines are Vvery stern masters. They (9 oil
st l?e fed with coal, and given petrol to drink, (D) right temperature
and oil-to wash with and must be kept at the -
right temperature. And if they do not get their |
meals when they expect them, thgy grow sulky 89. According to the writer the machines
and refuse to work, or burst with rage, and blow must get ﬂﬁeir meals when they
up, and spread ruin and destruction all around e
them. So we have to wait upon them very (A) demand
. attentively and do all that we can to keep them (BY - expeth
in a good temper. Already we find it difficult
either to work or play without the machines, (©) want
and a time may come when they will rule us (D) usually get
together, just as we rule the animals.
: 90. ‘Blow. up’ in the passage means
86. - -~ --- - does not know what to do - =
" with its knowledge.
with its know ‘g #A)  to destroy
ience
(A) Scienc (B) tolose temper
(B) Man (C) to warn
achine
©) i _ (D)  to stop burning
{P) Our Civilization
| (34) (Continued
OTET/P-1
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(6&e / MATHEMATICS)

g 1428624228 ad8a | 91 14,28 624,22, 83,
@ ENIGFIER &SI JAAIRER 679 et st In the given sequence of numbers~w;a_t
AEER qu OQ\ 62@ 7 will be the next two values ?

(A) 84, 258 (A) 84, 258
(B) 86, 264 (B) 86, 264
(Q 84, 336 (C) 84, 336
(D) 86, 344 (D) 86, 344
92. 0272 + 0.1363 Q. Ry 6960 7 92. What is the sum of 0.272 + 0.1363 ?
. 0272 +0.
® 7
2 2
A
®) 700
2
9 ©
© =
1
1 . D 3
(D) &= //
3 H WORK
v R ROUG
T aa Qidd I8t aiq / SPACE FO
.8MP :J C\' JAD CAMERA (Continued)
o @@ 2021/04/
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3
e
©
G
=
g
©

NS G T T i e ——

= o . 7E56
93. QC4 699 AQeA QST 5 6 7 F1RIERQ

94.

95.

UXFS ?
&) 3
® T
© 1
o) =

618G SRl9a 62a Adygsa ARICIER
QEGR 2RYQIRQ dlQl e AQse
cQIQaIAAS ? '

(A) QEARIOR

(B) gIe QI

€) g Caldy

(D) Qalge I

6alIEY 2lISoIRIa 9deia 9agl 79 fea |
q2Iq IRl QI 629 iR f6ag T6
2IQ6Q T 2244 @8 24 | @F0ITR 68T
660 ?

(A) 8453 m?

(B) 8325 m?

(¢) 8532 m?

93..

94.

95.

SET -(B)

Which of the following raﬁonal numbers

7 6
lies between and 7 ?
3
A 3
E
®) 716
12
© 717
13
D) T1s

In which period of cognitive development,
children acquainted with Mathematical

conversation ?
(A)
(B) Pre-operation

Sensory motor

(C) Concrete operation
(D) Formal operation

A rectangular garden is 79 m wide. It
costs X 2244 to fence it at T 6 per meter.
What is the area of this garden ?

>

) 8453 m?2
B) 8325 m?
C) 8532 m?
D) 8345 m?2

~ o~ o~
~—"

(D) 8345 m?

(36)
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S

5‘
UZ/

5‘ oo
Oh‘ g
C 2 E SET -
> =40,
5 (7 96 96. .
L“ J:\ i €00 6a—>5
= 10a+5
?% He=— D G 10a+5
B o ’ Di G
a8 Q@,GQ ABJ||HG 626®, a @ €1l 6@6¢! ? In the given figure, AB||HG. What is the
value of a ?
(a) 15 (A) 15
(B) 2.5 (B) 2.5
) 7.5 (C) 7.5
D) 5 (D) 5
97. QIBESIC QRER 6olIENg @deq aiadel AT 97. The paddy produce of 5 blocks are
QgIee §75g6a gede | @egeea @1Fg ~ depicted as A, B, C, D, E in the given
A,B,C, D,E q6d aellQiag | E @ Yedsl pie chart. If the produce of E is 40 quintal
C 9aQ qlea 40 Q@lﬁl gae 6216, more than C, then what is the total
A 9RQ Qglew @60 7 produce of A ? |
B A
," 10577 \B¢
B2
’ = 60°
, » = ‘
= (A) 672 quintal
A) 672 @EIm :
/EB)) o g@m (B) 824 quintal
Q) 762 Sain (€) 762 quintal
(D)) b g@lﬁ (D) 912 quintal
| o aidy aie 919/ SPACE FOR ROUGH WORE

37)
OTET/p.1 (
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98.

99,

SET -(B)

the streﬁgth of

" ion is
“UNESl coad adieq @f, §q wal | 98. Abstract,lcs put it will be useful if it
1C5,
?;GGWGH 0L, KT g NS YR ona Mathemamaxlmum number of specific
AH9Q 2ege @6a”’ - 933 alalq ? invalves a0 ,
situations.” ~
(A) 6. Juiee (A) J. Piaget
L) 2qeg (C) Hilbert
(D) G@ﬂq @QQL (D) James ]eans
8RR QO A°HWIQ 2,3,4,5,6 @ 7 QI 99. What is the smallest number which W}-men
WIS AR, NSV ARAKER 1,2,3,4,5 8 divided by 2, 3, 4, 5, 6 and 7 leaving
0 (9%) e ¢ remainder 1, 2, 3, 4, 5 and 0 (zero)
respectively ?
(A) 419 (A) 419
(B) 278" (B) 278
(C) 119 (C) 119
(D) 121, (D) 121
100. PORS 9Q6&Q, P, Q R 8 5 6@18 @@ | 100. IfanglesP, Q,Rand S of the quadrilateral
3.7:6:4 UQUIGER @?63, 606 - PQRS taken in order, are in the
ratio 3:7: 6 : 4, then
A) P
(A) PS| QR (A) PS||QR
B) P
€y PR
(C) PR| QS © | Qs
(D) PQ| QR
& o @idy @ @17 / SPACE FOR ROUGH WORK
(38)
OTET/P-1
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g8 caad 6489 Falel ae @
) @ ) 5
m@q@@ LI Q62
) 6add ol aaniesa B
/%( AR galael @8
(B) qI&oa 216MISRIOD slcales e
geael 694 -

Q@ ¢12I6Q i -

BQUIRH qidy @d
@ 604l fmtalal

eyl QARIS aIR &

Oy 969 986 aieig 9gf @ae!

) cadd earIGae d9e 56a Queela

Uee' ?

() c186e 2@l G qgq 999 @aQ!

SET _

101. Whi
ich of the following is not an
Example

of enric
hment programme for
of Mathematics ? a student

(A) Helping fellow stud
ents i :
problems. g

( B) Providing opportunities to organiée;
Mathematical seminars.

 (C) Attempting to solve problems of

students within school hours.

(D) Preparation of new teaching aids.

102. Which is the specific pehaviour Of

understanding pased questions ?

(A) Identifying Mathematical

definitions and formula.

s for

| qeiklie a6l fa8 980

GI50e aat
geleql Yalal

cI5oe daegeq 98 QR

q1&§de ziere G aeyIdey aidl

propose alternate method
Mathematical prObIems.

(B) :
solving

(C) Verifying the results of

Mathematical generalizations. '

(D) MathematiCﬂI estimation and

verification of proofs

Q<!

o, qidy @lel 9I9 / SPACE FOR ROUGTH

1 WORK




103.

104.

105.

SEioeq 99 9EIee @8l aIn GQ@ SRS
UAYNAR QAUAIRQD 7

(a)
®
©
(D)

dleaue
UPEAUL
Q658

eqas

ECllo™ QA CEQea goqa Y A°al
6Q6Q ?

(4) 4
®) 5
© 6
() 7

colleNg @4, g6 1 Qgiex 15 FRe A
2i@ 6@ | 9@ 3:00 pm 6267 AR
@9192q 0/ 974 6adIaQl AR LUQRFER
Q& @2, 606@ 622 Q14I6Q 8:00 pm

. 62Q| 6Qnq dae AN 6@6Q 621N ?

(A)azpm
(B)
(&)

ok

6:45 pm
9:15 pm

7:30 pm

103.

OTET/P-1

®

104.

105.

(D)
o @Id oI 9ie / SPACE FOR ROUGH WORK

SET _.

Wthh method is adopted to establigh
formula in Mathematxcs ?

(A)
(B)
©)

Induction
Deduction
Analysis

Synthesis

‘How many lines of symmetry are there

in a regular pentagon ?

(A) 4

......

A clock shows 15 minutes extra time per

hour. If it is set at accurate value at

3:00 pm, what will be the actual time
when this clock shows 8:00 pm ?

(A) 7 pm
(B)
©

6:45 pm
9:15 pm

730 pm

(Corltinue




\y’; “.q

)} (LR

TN e SIS NTT T,
V/ o

106.

107.

Q6719 6099 Q1&g INNQIQ QRSO Q[N
26 ?

QS Q&§iQ)

USS 28919 2ige geis saq!

O UST a}JQ

D) IR Qatul sngel

RS gl 98 FAIGRER gEGRE! F926R |
IR Qg 60% 6RIS TR 78 HS CRISER
IR 626m | I 85 FE 6QIS FING 62IRAIN,
6069 6FIISER 6760 §4 ERIS CAARURI ?

(A) 562

(B) 482
(C) 475

745

107.

SET -(B)

106. Which one of the following is affective

domain in teaching Mathematics ?
(A) Counting numbers

(B)

Interested in Solving Mathematical
Problems

(C) Solving Mathematical Problems

Write the

number
multiplication '

after

Two candidates contested for a post in
an election. The winner secured 60% of
votes and won by 78 votes. If 85 votes

were declared invalid, then what was the
number of polling ?

(A) 562
(B) 482
475

(©)

(D) 745

/

OTFT/P1
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o @194 €1l @@ / SPACE FOR ROUGH WORK
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SET -

108, a : 74 . 7 > :
83lIoNg QaQ 5 2°q| 094 anl | 6a2ea 108. A tank was th part filled with water,

12

j 12090 18 08 edal aeq q98a L org On adding 12 [ of water to it, %th e
.) SR QB | 6069 6B Qad ‘214‘1‘53 ﬁlm&@l space was till left empty. What is the total
5 Y- 6Q26Q ¢meo Qoo quantity of water required to fill up the
L QLIRS ? : tank when its empty ?
1 (A) 36 4. (A) 36 lit.

AB) 424Q. (B) 42 lit.

©) 48 Q. (C) 48 1it.

(D) 54 Q. (D) 54 lLit.

109. 660 Goq q1g 9o CQRAIG 6QIG saim 6

SOIIT gaq BelIRer 1 8 25 6. 6 11 6Q,
QA UG QRE @6Q | cUIRQ 6Ty

109. A 660 m long train crosses a bridge and a

pole in 1 min 25 sec and 11 sec

_ respectively. What is the length of the
C@ee ? bridge ?

{X) 4240 m (A) 4240 m

(B) 4440 m (B) 4440 m

(C) 5100 m (C) 5100 m

(]/D) 5340 m (D) 5340 m

110. 6915 3RGAR GIBA QA 1812698 6 | 110. The diameter of the base and height of a
@901 2. 6269, 121 9G9I 6879

cylinder are 1 m 12 cm and 2 m

e@eQ ? respectively. What is its curved surface
. Area ?
(A) 3.95 m? 2 (A) 3.95 m2
(B)  7.04m2 . -0, (B)  7.04 m?
C) 197 m? ©) 197 o2
(D) 8.02m? | (D) 8.02 m2

) e —
o @idy @l 919 / SPACE FOR ROUGY WORK

(42) (Conﬁnued)
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ASET _

i 1 A D
| 108°
B it \
E ¢ |
399 ABC 68 ZDAC @ q@sg 691é | 9@ In given AABC, ZDAC is the exterior
AB=AE 8 AE= EC @4, ZABE Q daeld angle. If AB=AE and AE=EC,
6@6e ? _ ] calculate ZABE :
(A) 18° UG ' (A) 18°
(B).. 365 oo . o v i B) 36°
(€ 48 ' © 48°
)p) 72° ' v 1 AD) 72
112. 6090 cdoa 6adaY 950 @6Q QI ? 112. Which one does not 51gm.fy the features
IR _ B ' A of Mathemahcs ?
( Aj dﬁmd@%’?l@» i : ' (A) Science of Magmtude
(B) odqee goqee I8 . (B) Science of Logical Reasoning
C) 2Ueadse ome ' (C) Science of Behaviour
v <
D) &4 o @QIQ i (D) Science of Calculation

% o
Qe @iy e QI / SPACE FOR ROUGH WORK

(43) (Continued)
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} -
13. 691N aige AACAFR 656, gg 8 awe!
QUREA 12 6, 94, 6 g4, | qalg @l

3. 19 QLRI 6R60IT AALREQ R8I
QAR ?

pA) 32
(B) 28
) 24
(D) 48

114. aqiage daae gq RAQ AR 696 GG
USSR 2eg 7

(A) 24210 209 gaie aid agide sae!

(B) <oRie gl ARG 6Q ARG

2RNAL QA9

1C)  6QlITN 98° 6Q9m g 6aIE 9 2aa

e g¢g aoIae
(D) 29182 g9 a9l1ael

115. @IRAYE FRIQ 6296 0de Jaeiea daa |

QERIY S QAR IR 9@ QdiQNe
FATQ Q6L ?

(A) doUERIR gl
(B) 64841 IR
(C) 960 @aa

(D) <Q€<l

SET \

5. A metallic cuboid has length 12
cubes of edge 3 m can be cut oyt of it 7

114.

115.

< (4 N L
ag, qidy Al 919/ SPACE FOR ROUGH WORK

OTET/P-1

()
(B)
©)
(D)

32
28
24
48‘

Which condition is necessary to ensyre
objectivity of the test ?

(A)

(B)

©

(D)

By encouraging descriptive
answers.

By adopting subjectivity in scoring
procedure.

By asking questions which have
one and only one answer.

By putting guessing questions.

Which one of the following is not linked
with aims of teaching Mathematics ?

(A)
(B)
(©)
(D)

Recognise
Classify
Infer

Understanding

(Continued)
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116 c
40°
A B

\M
DN -5 7K

Q8 596Q AB Q@R QYIQ 626 x @ A

g ea

(A) 40°

B) 50°

(C) 60°

(D) 80°

117. 9@ 3214a4 , 4 QA TN 24, 6069 ‘@’
Q QAU FJRY A 666 629 ?

o O B W

116.

117.

118.

SET -

C

40°
A >> B
\M
D%

In the given figure, if AB is the diameter
of the circle, find the value of x.

(A)  40°
(B) 50°
(C) 60°
(D) 80°

If 3214a4 is a number divisible by 4,
without leaving any remainder then the
number of possible values of a is :

(A) 3

(B)
(©)
(D)

o\ U1

What will be the total number of factors
of 360 ?

) 20 (A) 20
B 22 (B) 22
© 24 Q) 24
D) 26 (D) 26

\_//<

OTET,/p-1
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- 119. 999 erig 6606 g8 aearRe 999 6a8d
266" ?

(A) @da aaa eaclq dslde @99
6RQIR gsale QIIgig 29|

(B) dmiehia geaainel 6 58I aaq 86!
QRIS [l |

(©) dRige uREqa efaiea |

(D) Jicha aaQyl AaRIIQ Q6! AARER
ey AGaIaReld |

120. 66N 6HRRIQ 12% RINER 97 @QUER |
CHREITR T 2.40 YR Q6@ I
QAUAIAAER, 15% AN 62ARAUSBI | 6669
CURSITQ @4l QI 666 ?

119 i

ch

- (A)

pich of the following

SET -

iS the

aracteristic of open ended question,

Unavailability of specific ansige

T
impairs a student’s ability to reagy
a conclusion..

[t improves the creativity apg
hinking capacity of a student,

It reduces student’s self-confidence,

It is impossible to evaluate the
problem solving competency of a

student.

120. A toy was sold for a profit of 12%. If it
was sold for X 2.40 more than it was sold

for, then profit would have been

What is the cost price of the toy ?

(A) T114 (A) 114
~“B) X80 (B) %80
Q)X 90 Q) % 90,
(D) %75 ®) 275
ag, @Y aIel 919 / SPACE FOR ROUGH WORK ol
OTET/P-1 (46) ( Contin®®
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SET -(B)
(e6ea Sie / ENVIRONMENTAL SCIENCE)

QlAuIQdIER @@_ con Q@@ JREE FVAER 121. Which two environments are learnt by
1 el G168 7 ' child during childhood ?

(A) gth,@@ 8 QCIde (A) Natural & Socia]

(B) QAGR B 6LNoR (B) Social & Physical

(C) 6816 8 QTR (C) Physical & Cultural

(D) QAR 6 AR (D) Cultural & Social

s
122. ARG AQRIQEQ 698 Adfgn Faq

122. To whom are the Union Council of
AdIAIR QIR AI¥ea aaaalg Qa8 ?

Ministers accountable for various

functions in the Parliamentary form of
Government ?

(4) UILAG (A) President

(B) Qe (B) Prime Minister

(@RS (C) Lok Sabha

D) 629Q @raRIRE (D)  People of the country

123. 984 QiRleqe QIal 9e1e cad AL | 123, Why
ol ‘. : ch Act passed b British Parli
9IS 1919 (2168 Q1N dIAR zgag B

in 1919 did become Government of Indi:

Qd eaml ? Act ? ot indi
-601Q 6716 T°aq '

(A) ﬂee}q 69¢1Q diae (A) Montagu - Chemsford Reforms Act

(B) ¢em-Feql 6199 °UR ige (B)  Morley - Minto Reforms Act

©) udeqs faq 2ae (C)  Cabinet Mission A

(D) QUGIRQ UKW

(D) Rowlatt Act

OTET/P-1 (47)
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124. 62¢ QIdel 6a4IS @iae A 694

JdeQgs ?
10
A 76—
(A) 5 E
(B) 8- E
2
10
C) 86= E
(®) >
/
10
D) 92— E
(D) 27

125. glade gaca adald daiaie Ae6e cae
aaoE PG QUeaIG 266 P
(A) adieasd ca
(B) gade
(C) <9 Qo
(D) 999
126. 694 AIe@ 4o ge1ge 9aal E88 aas<]
Goolq oIReN ? v ,

(A) 69O

(B) @geo
(C) @e2IRae!

(D) @gR3E!

SET _

Wwhich meridian is Very importap; o
. o

= India 7.
) 76%013
(B)' 82—12—°E
© 86—;—°E
D) 92—12-° E

125. Which method is most useful for teaching
history at primary level ?

| (A) Observation
(B) Den}onstration
(@) Stor'}'l;-tgllin'g ‘

(D) Projéc'é ‘

126. Which standardised method indicates the
consistency of test scores in evaluation

process ? -
(A) Validity
(B) - Reliability

©) Usability

(48)




P

=~ 6606 156N
460 @ qggan 697 3 922?12 .
ql Seq @19
gl =% ol eaed dId .
6@211@@ g6 aidiq 4gel 1 gm/ ;C A
i’(;,@@@) sic08@ gQQ 676¢ 689
(a) 08
(B) 0.25
5
o %
D) 5

128, 696 666 9064 Saie gade SRIAINa
289 6% ?
(A) QRIGSIER B8 AR
F o Qe
© esRdes QIdigd
(D) 659 609 Q1a2Ia

129, 6260 QIAFIGIER FQQ 699 LR 27°C
JRIQ YRGS 629 ?
(A) 54°C
(B) 600°C
€) 927°C
(D) 1200°C

130. glaeq FaI8 dRIL. 699 calg
62IQ2I ?

(A) eamigl

(B) &daauel

©) Qo QiR
-(D) Qeaed

© 130.

SET _

127. A block of body weighs 15 N in spri
Tin

balance in air and its weight in wate,
shows 12 N. If the density of wate, is
1 gm/cc, what is the specific gravity of
the block ?

() 0.8
(B) 0.25
© %
(D) 5

128. Which is not included under exhibition

mediated environment science teaching ?
(A) Drawing diagrams on blackboard
(B) Use of charts

(C) Television programme

(D) Use of tape recorder

129. At what temperature, velocity of sound

will be double of its value at 27°C ?
(A) 54°C

(B) 600°C

(C) 927°C

(D) 1200°C

Which disease is caused due to mercury
poisoning ?

(A) Pellagra

(B) Minamata

(C) Itai-itai

(D) Rickets

OTET/P-1 (49)
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131. 96aie Jgieq Al

SET -

. 990 QR0 aingy @il | 131 To whom a teaching aid in teacy,
i Qe 7. : of Geography is meant ? g
(A) lg (A) Student
(B) dae (B) Teacher
Q) eeg 219 6 Jaa (C) Both Student and Teache,
(D) AIqg (D) School
132. Qi AUITO cAFaeRn o' G?Qlﬁél QG ? 132. What should be done when fingers are
' ; burnt ?
(A) J9UIQ ARd Qeiaa (A) To apply Aloe vera lotion
(B) agiaidieq 9¢ e QIR (B) To dip the wound in éold water
(C) R QIFeaQ (C) To bandage the wound
D) Q@ Qe (D) TO pour ink
133. &6Q QBUILIRUR G649 slg Adg GC{?@J@ 133. Which of the followihg characters is not
QIR AIRIAEE FBEIQ 2°8 FeaT GL8 ? a part of education through computers?
(A) @19 699 (A)  speed .
(B) <Q0@e (B) accuracy
©) gﬁG@l@ ©) storage |
(D) ikl (D) intelligence
134, 6Q6E AR B6RIT Ol GAR ? 134. Whjgp, one is different from other hree”
(A) g (A)  Potato
(B) @u¢li (B) Sweet Potato
C) o (©)  Radish
(D) 9IFQ Digt (D) Qiasy
g (50) ot
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. @IQQGQ 6@@ QY AL de QQ@ 2lag
1

QI@&W ? I8 Withwh ich o
Start Top Swy
@ ed in a
(A) é“ (A) s h\ ‘a7 Sy \\Q%‘QQ“
(B) ©2¢ b g,
B) w
(C) alg. heat
(C) Sugar
Cane
(D) @dl
(D) Cotton
136. Q@NIQ@Q glade ?JQWGQ 6% QeIfaa 136. Which vitamin jg req
g ? : uired ¢
R early stage of preghancy 7 uring e
() awdR (A) Thiamine
(B) W& NLQ (B)  Folic acid
(C) AUWWR LS (C) Ascorbic acid
(D) @ULR (D) Niacin
137. QQUIRG JQANER AIICRNE 08T AQARS | 137. Teacher instructed all the students of a
AR IS 8 PRIY F1RIER Qiday dd@ Qe class to study the difference between
29l 28R AR 6T 6ga1a Aa weather and climate separately in the
GQuighis 9e G6W9 6Q6M | J8PR 6aR school compound. Which is a correct
2ARUIQESIG OR ? concept of the procedure ?
(A) ggqu@gg 2 ¢aaime (A) Limited period of observation
(B) dRew QI QY UL ALEQAIY (B) Easier for the teacher to investigate
‘ the work
©) cada 9dyceRd ‘GQQ@Q (C) Possibility of daily observation
D) @8 Slagll G;@Wl@ (D) Eradication of misconception
0 id the first struggle for Indian
a1gel 299 6@6@ | 138. When di
138. @100 ?&ﬂ 4 Independence take place ?
c2ieml
- (A) 1757
(A) 1757 (B) 1857
(B) 1857 © 1919
(C) 1919 (D) 1942
42 ;
\_9,19,,/ (Continued)
: (51)
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139. QqRge g cRarIea asRg.a A e

=g ¥

139. Out of the fOHOWlng Wthh
are

aclie 7 isoelectronic in nature ?

) N, @) CO (i) NO* @ M 40 1CO ) o

@iv) CN- (v) N7 '.

@) ) SR iy W

®) (i) 9s (i) ®), Ge e .

(©) (@), (i) 99" (i) (©) Q)i and (it |

(D) Qreea (D) Al
140. INCEI QFTIER Q% 63 Qe 29 ? 140. Which energy is used in sailing boats 7

A) LU (A) Tidal s

(B) eda (B) Solar

(C) ede (C) Bio

D) oIge (D) Thermal
141. 2980 JRULE QI e@a”é 4o Qauding ? 141. Which A'one; is  determined by the

| placement evaluation ?

(A) diEis J6asaIe QIeala (A)  Entry behaviour of pupils

(B) dxidize g d8Ia AYE (B) Minor learning difficulties of pupis

©) aadica e Qidiegel (C) Overall achievement of pupil

(D) JiiGe uete aRI 2RI (D) Major learning deficiency of pupils
142. QIGE9 AANS IS 660 GBE ? 142, Where i located the Nortem 15 P

of Indiq ? -

(B): RIH (A) Ladakh

(B) @I G @Igia () Jammu & Kashmir

(€)= =i (©)  Punjab

(D) &gioe e (D) Himachal Pradesh
L . ed
OTET/P-I (52) (Conh#“e )
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> 72991 ARG 60R AIY QRIER ? 143. Which gas is releageq fr

° 143, oM langg
3 wastes ? | U
© it

E ) dealq (A) Methane

;@ (B) giqoe GJLHQL (B) Natural gas

= .

va C) IRde | (C) LPG

g> (D) AEE (D) CNG

I

144. Which is the longest part of the aﬁmentary
canal ? -
(A) dIRLM (A) Stomach
(B) QAR (B) Oesophagus
C) Qeeq (Q) Large intestine
(D) gala (D) Small intestine
145. €A IR N9 AQRECHYS T2sq ‘A’ Q | 145. A vehicle moves along a straight path
‘B’ adye 20 km/hr 69G6Q GRl 9Q° ‘B’ . from ‘A’ to ‘B’ at a speed of 20 km/hr
Q ‘A’ 9948 30 km/hr 696160 6TAA | and returns from ‘B’ to ‘A’ at a speed of
AL AIQIER FIRTQ QIR 66 6Q6R 30 km/hr. The average speed of the
adee ?

vehicle during the total journey is :
(A) 25 km/hr

(B) 24 km/hr

(C) 225 km/hr

(D) 264 km/hr

(A) 25 km/hr
(B) 24 km/hr
(C) 225 km/hr
(D) 26.4 km/hr

146. Quee1a Qfixiea aEIeal & 7

146. Who is the pProtector of Indian
Constitution ?
(A) Qugad (A) President
(B) crRIQQl (B) Lok Sabha
Q) Quevael (C) Rajya Sabha
(D) q6die QuIIRG (D) Supreme Court
e—
OTET /P-1 (53) (Continued)




. dQiQIe @ d8¢ 6RG6Q aqaldae

deeadl qig 52091 aQQ°aiIeee
Sea0Icq 6RREQ 2IQEae! 6@ Q1@ ?

(A)

4 (B)

(©)
(D)

& e

SNy QAN TQIFE
IR dQIge
QR0 § Q6%

148. Q6918 f1Ig caad wo AQ@E2 eI
Q6g ¢

(A)
(B)
©)
(D)

USRS
BeRIR
2SR
deaq

149. QAT AR 696R 6Rada 9AEe
621QReNg ?

(4)
(B)
©)
(D)

QLG
AR
QlagIgl
giedl

150. QU@ QAR 6aa il 79199 Zleala
ANGER oI 62027 ?

(A)
(B)
(©)

(D)

it 73
i 74
I 326
il 324

~-000-

SET _.

147. In the statistical analysis of quantitatiye

researchin teachmg-learmng processes in
education, which of the followmg is not
required s

(A) Intelligence test

(B) Learning achievement test

(C) Physical test

(D) None of the above

148. Which one of the following is not a

greenhouse gas ?

(A) Carbon dioxide
(B) Ozone

(C) Argon

(D) Methane

149. Which of the following does not change
during the melting of ice ?
(A) Density

B) Volume

Temperature

Phase

150. Which article of Indian Constitution
indicates about an Election Commission ?

(A)  Article 73
(B)  Article 74
(©)  Article 326
(D) Article 324
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